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501 a 5 6 21 b 3 4 710

5X 21 6
3710 44

3 8E
Mess IF

Sol a 22 5 1470

Findroots of 22 5 14 0 X2 X 7 0

2 0
x 2 x p

Number line for positivity negativity analysis
I 5K

Ifffy
For 22 5 14 0 we have

XE 0 2 U 7,0

A
Checkendpoint since the question 2 5 14 8 iswithoute'qua
their endpoints are NOT included

Xe b 2 U 7,0



b x 2X 35

x2 2x 3570
Find the root of 222 35 0 1 571 7 0

5 0 or 79 0 5 or p
Number line for positivity negativity analysis

For 22 35 0 we have222 35
p ye o 5 0 7,0

Checkend points since the question
22 35 0 is withequa

then endpoints are included

XeE 5 uD

C 4 0

Find the roots of x 4 0 1 2 X 2 0

X 2 or 2

Number line for positivity negativity analysis

24 For 4 0 we have

e 1 2,2
3 I

Checkend points Since the question 4 0 is with equal

then endpoints are included

Xe 2,2

h x3zx 5X 6
Find theroots of x 2 2 5 6 0

Testeducatedguess X 1



guess

1
3
2 1

2
5 11 6 1 2 5 6 0

is a root and x 1 is a factor of 3235 6

Thenfind all rootsbyfactor
3 2 25 6

ph Etg3 2 25 6 X D XI
0

x 1 Xt X 3 0

X or X 2 or 3

Number line for positivity negativity analysis
3 225 6

fg
For 2225 6 0 wehave
Xe 2,1 U 3,0

Checkend points since the question
225 630 is with equal

then endpoints are included

Xe 2,1 U 3,0

501 a 12 71 9
Solve for 12 71 9 2 7 9 or 2 7 9

2X 2 or 2x 16 X 1 or 8

Number line For 12 71 9 0

Xe 0 8 0 1,82 1 9

ftp.FIIFEna1itf n gso 11 9 0



Check endpoints since the question 12 7 9 0 is without
equal then endpoints are NOT included

Xel W 8 0llt
b 16 21 3

Solve 6 3 3 6 3 3 or 6 3 3

6 0 or 6 6 X 0 or 1

Number line

total 3 I
16 2 21 31 1,1 13 161 21

3

8 3
1101113 0 1 320 8 3 570

For 1 6 2 3 CO Xe 1,0
Check endpoints since the question 16 2 3 0 is without

equal then endpoints are NOT included

XE 1,0

C 5 3 1 4
Solve for 15 3 1 4 5 37 4 or 5 3x 4

3 1 or 34 9 x on 3

Number line

F F És
15 301 4 15 311 4 151 11445 4 170 1211 2 0 7 4 0



For 5 3 1 4 we have Xe L 0 V 3,0

Check endpoints since the question 15 3 1 4 is with equal

equal then endpoints are included

e 0,530 3,0

501 a 430
Find the X interceptis and vertical asymptotes

2 0 2 4 0 4

Number line For
4 0

4
o xec o.hu to

2

4
Checkendpoints

2 3 4
0 V Xe 0 4 U 2,0

4 4 undefined

99 5
0

Find intercept and a vertical asymptote

9
150 711



Number line

Fits Effs
For ff.co wehave

9 11
Xe t5

7 15

checkendpoints

q.tt s oV et Hs

5 s
undefined

d 11 30

Find intercept and the vertial asymptote
6

Number line

g
For 84 0 we have

EGO E 04 0
13 4
6 1

Check the endpoints

fg or xe a 830 so

I made 171 undefined



g co EFFO
Find X intercept and vertical asymptotes

EE 55515 and to

Number line

KEY
For 7s SO wehave

a EÉ 5f XE A 1 0 2,5

I I I
Checkendpoints there is no need to checkendpoints because

the question 470 has no equal sign

Xe 0 1 0 2,5


